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1.    Read the passage below and answer the questions that follow (20 marks)

 Cities and towns are experiencing massive population growth the world over, receiving huge numbers of migrants every year.

In 1950, urban population accounted for only 29 percent of the world population, according to the United Nations Educational Scientific and Cultural Organization (Enesco).  At the turn of the century, the figure had risen to about 45 per cent.  This was enough to declare the Twentieth Century the century or urbanization and city life.  Now the figure is projected to hit 70 percent by 2025.
In Africa, urbanization is most intense in Algeria, Tunisia and South Africa, which have more than 50 percent of their population living in urban areas.  Generally, cities in the developing world are growing at a rate of 3.5 per cent per annum.

These figures indicate that there is a continuous massive movement of people from rural to urban areas worldwide.  Driven by the desire for better living conditions, they flock to cities in droves in search of greener pastures. But, slowly, the illusion disappears, and is replaced by the harsh realities of urbanism: unemployment or underemployment, crime, poverty, hunger and life in the slums.
To cope with this fast moving wave of rural flight requires new strategies for urban planning and the use of urban spaces.  Thus urban planners, policymakers and governments seek pragmatic and timely ways of addressing this challenge.  The process or urbanization transforms land use and farming systems, patterns of labour force participation, infrastructural requirements, and natural resource systems. When cities grow, their populations expand, putting a strain on food production.
As a way of easing the food shortage, many urban households, particularly the poor, have taken to growing food on small plots. Today, if you take a walk through some of the residential estates in Nairobi such as Ngara, Eastleigh and Buru Buru, you might be forgiven for thinking that a green revolution is under way. And on the outskirts of the city, green-houses and ponds compete for space with small gardens planted with flowers, vegetables and fruits.  Banana plants and palm trees dwarf wrought-iron gates, their green dotting the skyline, Kale, cabbage and maize gardens sprout in the middle of urban squalor. In this unusual rare blend, urban features and rural agrarian patterns are combined in a new form of settlement that one might call ‘garden cities’.
Although it is often not given much attention, urban agriculture is steadily increasing.  The practice involves cultivating, processing and distributing food in and around a town or city.  It also encompasses an array of activities including horticulture, aquaculture, animal husbandry and bee keeping.
(a)  What are the challenges facing major cities and towns




(2 marks)
      .............................................................................................................................................................

      ............................................................................................................................................................

    …………………………………………………………………………………………………………

(b)  What does the mention of 70% by 2025 reveal?





(1 mark)

       .............................................................................................................................................................

      ............................................................................................................................................................

  (c) What do we learn about urbanization in Africa from the passage?


(2 marks)

      .............................................................................................................................................................

      ............................................................................................................................................................

    …………………………………………………………………………………………………………

(d)  Mention two reasons for rural to urban migration                                                     (2 marks)
      .............................................................................................................................................................

      ............................................................................................................................................................

    …………………………………………………………………………………………………………

(e)  How are urban households easing the problem of the food shortage?                                (2 marks)
      .............................................................................................................................................................

      ............................................................................................................................................................

    …………………………………………………………………………………………………………

(f)  What is meant by the term “garden city”






     (1 mark)
       ........................................................................................................................................................

      ............................................................................................................................................................

(g)  List the influences of urbanism.







   (4 marks)
       .............................................................................................................................................................

      ............................................................................................................................................................

    …………………………………………………………………………………………………………

         …………………………………………………………………………………………………………………………………………………………………
(h)  Urban populations accounted for only 29% of the world population. 


       (1 mark)
       (Rewrite the statement adding a question tag)

……………………………………………………………………………………………………

(i)   What does urban agriculture entail?                                                                                     (2 marks)

     
......................................................................................................................................................
                                                               ........................................................................................................................................................

j)  Explain the meaning of the following words as used in the passage                                      (3 marks)
    i)  illusion………………………………………………………………………………………………

   ii)    pragmatic …………………………………………………………………………………………

   iii)    squalor ………………………………………………………………………………………......
2.     Read the excerpt and then answer the questions that follow:
THE WHOLE COUNTRY WAS JUBILANT.
Freedom! Independence! Uhuru was in the very air.  Few really understood what it entailed but who cared?  Let the white man go.  We’d muddle along with our affairs.  After all they are ours. The revered old man Jomo Kenyatta was at the helm and to assist him was the firebrand Jaramogi Oginga Odinga. The cabinet consisted of young, quite well education Africans whose enthusiasm covered a multitude of sins especially lack of experience; but they would learn on the job.  The sky was the limit for them mainly because the people they would lead had a few unusual characteristics though no one realized it then.  The two most important of these were an amazing capacity for work and great resilience.
The people worked tirelessly and Kenyatta made the need to work, especially on the land, clarion call.  He ended almost all his speeches with a plea of turudi mashambani –let us return to the land.  He exhorted his people to forget and to forgive and the people listened.  They seemed to know instinctively that it was better to channel energy into work rather than into hate.  Besides, the emergency years from 1952 to 1959 had been seven years of misery and bloodshed and nobody wanted to see such things 

again.
People wanted to live in peace; to educate their children; to have a friendly rivalry with their neighbours; to see who could reap more of the fruits of Uhuru for Kenyans have a taste for the good things of life.  Finally each Kenyan loved his own skin dearly and though politicians would try to incite them to violence in later years, this basic love for self would see the people through such difficult times as would have to set the peoples of other Africans nations at each others’ throats without compunction.
The whites left in droves fearing for their lives.  The nature of Kenyans had not become evident in those days.  For those who stayed, this would become a haven of peace unequalled anywhere in the continent, not even in South Africa to which some fled.  There were many places to be filled and few Africans with enough education to fill them.   Promotions were rapid even for those with only a modicum of ability.  Mark Sigu, a man of considerable energy, benefited.  He joined a correspondence school and worked hard.  In 1967 he became a manager and he moved to a much larger house which was just as well for he had quite a large family made more so by his wife’s propensity to having twins.
(a)   Explain what happens immediately before this excerpt.




(2 marks)

......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ............................................................................................................................................................

(b)  Describe the mood portrayed by Kenyans in the excerpt



(2 marks)
......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ............................................................................................................................................................

(c)  Discuss two themes evident in the excerpt






(4 marks)

......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ............................................................................................................................................................

......................................................................................................................................................... ….. 

(d)  Describe two character traits of Jomo Kenyatta as brought out in the excerpt.                (4 marks)

..............................................................................................................................................................                                                      ............................................................................................................................................................

......................................................................................................................................................... ….. 
(e)  Comment on the use of any two figures of speech in the excerpt


(4 marks)   
..............................................................................................................................................................                                                      ............................................................................................................................................................

......................................................................................................................................................... …..   

..............................................................................................................................................................   
(f)  In note form, mention the Sigu children and their ages as mentioned immediately after the excerpt.

  (4 marks)                                                   

......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ......................................................................................................................................................... …..   

..............................................................................................................................................................                                                    ............................................................................................................................................................

......................................................................................................................................................... …..   

..............................................................................................................................................................                                                    

(g)  Explain the significance of the following idioms for Kenyans as used in the excerpt. (2 marks)

(i)  the sky is the limit

...............................................................................................................................................................
......................................................................................................................................................... …..   

(ii)  Fruits of uhuru

..............................................................................................................................................................                                                      ............................................................................................................................................................

(h)  Mark Sigu, a man of considerable energy, benefited.  (Rewrite beginning with It………..) (1 mark)

......................................................................................................................................................... …..   

..............................................................................................................................................................       

(i)  What are the challenges that face the new government?                                              (2 marks)                                               ...............................................................................................................................................................

......................................................................................................................................................... …..   

3.  Read the poem below and then answer the questions that follow (20 marks)

partners
My friend

i want to talk to you

talk to me

answer me back

i thirst for dialogue

don’t you?

Don’t ignore me

as if i am nobody

i am somebody

let us talk

“Companion

speak truth to me
words i can rely on
hang on
believe
I cannot stand hate talk anymore

obstinacy
stone men and women
As you hurt me

you must also hurt
because we are flesh and blood
give me a shoulder
and here is a shoulder

I wish for
healing
humanness
progress
prosperity
i am a citizen
We give birth to government

we are bigger than government
we matter, don’t you understand?
Partner

let me see you smile
let me see you care
let us embrace
together we shall fall or rise


(Kivutha Kibwana)

(a)  Who is the persona and what is or her problem?





(4 marks)

......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ............................................................................................................................................................

........................................................................................................................................................
......................................................................................................................................................... …..   

(b)  Identify and explain the irony in this poem





(2 marks)

......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ............................................................................................................................................................

......................................................................................................................................................... …..   

 (c) What does the poet achieve by using ‘i’ and ‘I’ in the poem?



(2 marks).                                                      ............................................................................................................................................................

......................................................................................................................................................... …..   

.............................................................................................................................................................. 

(d)Explain the relationship between the speaker and the person being addressed

(2 marks)                                                     ............................................................................................................................................................

......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ............................................................................................................................................................

(e)  Why is it necessary for people to live in unity as a Nation



(4 marks)
......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ................................................................................................................................................................
....... ......................................................................................................................................................... ….. ……………………………………………………………………………………………………..  

................................................................................................................................................................                                                      ..................................................................................................................................................................

................................................................................................................................................. ……….   
......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ...........................................................................................................................................................

(f)  Identify and illustrate the imagery used in stanza four.                                                   (2 marks)

......................................................................................................................................................... …..   

.................................................................................................................................................................                                                     ...................................................................................................................................................................
…………………………………………………………………………………………………………………………………………………………………………………………………………………………

(g)  Explain the meaning of the following words and phrases


         (4 marks)
(i)  obstinacy

..............................................................................................................................................................                                                      ............................................................................................................................................................

(ii)  progress

......................................................................................................................................................... …..   

..............................................................................................................................................................    

iii)  we are bigger than government                                                  ......................................................................................................................................................... ….
..............................................................................................................................................................                                                      ............................................................................................................................................................

(iv)  give me a shoulder
.............................................................................................................................................................
......................................................................................................................................................... …..   

..............................................................................................................................................................                                                      ............................................................................................................................................................

4    GRAMMAR
(a)  Rewrite the following sentences according to instructions after each.  Do not change the 
       meaning. (3 marks)
(i) If we do not keep the environment clean, the health officer will close our café.   

     Rewrite using “unless”

……………………………………………………………………………………………………………

(ii)  He is proud, but he must still obey the order.  (Begin:  Proud………….)
………………………………………………………………………………………………………………………………………………

(iii)   “Quality products are not an act of generosity but your right,” the officer informed the student.


(Rewrite in reported speech)
…………………………………………………………………………………………………………………………………..
…………………………………………………………………………………………………………………………………

(b)  Complete the following sentences with an appropriate preposition (3 marks)

i)  Many people claim that girls are good ……………………………………art subjects

ii)  The soldiers are travelling ………………………………………………………..land

iii)  The boy was absorbed……………………………………………………….a book

(c)  Fill in the blank spaces with the correct phrasal verbs using the verb in brackets (3 marks)
i)   After a long argument the group……………………………….her views (come)

ii)  They were…………………………………by his rude behavior (take)

iii)  The car………………………………….outside the shop.  (pull)

d)  Correct the errors in the following sentences (3 marks)
i)  He pick up a quarrel with me

………………………………………………………………………………………………………………………………………..
ii)  The teacher told us to write the essay on a foolscap
…………………………………………………………………………………………………………………………………………

iii)  Let us bow down for a word of prayer
…………………………………………………………………………………………………………………………………………

(e)  Explain the meaning of the underlined idiomatic expressions (3 marks)
(i)  The class whiled the hour away by playing football

…………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………

(ii)  Since you decided to throw caution to the wind, you will bear the consequences.

……………………………………………………………………………………………………………………………………..

…………………………………………………………………………………………………………………………………….

(iii)  Bill was on pins and needles during the party

……………………………………………………………………………………………………………………………………..

…………………………………………………………………………………………………………………………………….

Nakuru Sub County Sec. Schools Trial Examination @ 2016 English Paper 2
Page 1

